

Registration 2015

SECTION I							
SPGE INFORMATION							
SPGE NAME Bullitt County Library Taxir	ng District	REGISTRATION PAID 12/11/2013	TAXING AUTHORITY Yes				
MAILING ADDRESS PO Box 99		Shepherdsville	ZIP CODE 40165				
CONTACT NAME Joe Schweiss		TELEPHONE NUMBER (502) 543-7675	FAX NUMBER (502) 543-5487				
joe@bcplib.org	email website url www.bcplib.org						
SPGE TYPE Non-Enterprise – With Taxing Authority							
TYPES OF SERVICES PROVIDED BY SPGE Library services							
OPERATIONAL BOUNDARIES AN Countywide	OPERATIONAL BOUNDARIES AND SERVICE AREA OF SPGE Countywide						
LIST ALL FEDERAL, STATE AND Kentucky Department of L	LOCAL ENTITIES THAT HAVE OV Ibraries and Archives, Bu	ERSIGHT OVER THE SPGE					
SECTION II							
CREATION AND OPERATIONAL INFORMATION							
KRS UNDER WHICH SPGE WAS 173.720	ESTABLISHED	DATE SPGE ESTABLISHED 06/19/1967	DATE OF LAST AUDIT 09/24/2014				
ESTABLISHING ENTITY Bullitt County Fiscal Court							
KRS UNDER WHICH SPGE OPERATES 173.710-173.800 ETHICS ORDINANCE County							
AUTHORITY UNDER WHICH SPG	GE OPERATES						
SECTION III							
	LOCAL NEW	SPAPER (per KRS 424.120)					
NEWSPAPER NAME The Pioneer News	455 N. Buckman St.						
Shepherdsville	KY STATE	40165	PHONE (502) 543-2288				
SECTION IV							
DATA SUPPLIED BY							
Rhonda Kinser		TELEPHONE NUMBER (502) 543-7675	EXTENSION 2004				
HR Admin/Bookkeeper			04/17/2015				
P.O. Box 99, 127 N. Walnu	ut Street	Shepherdsville					
KY STATE	^{ZIP} 40165	EMAIL bcpl@iglou.com	bcpl@iglou.com				
SECTION V							
FEES							
SUM OF TOTAL ANNUAL REVEN \$4,900,000.00	UES FROM ALL SOURCES FROM	I PREVIOUS YEAR FOR CALCULATING FEE RATE	(DUE BY JULY 15)				
DOES YOUR ENTITY CHARGE TA	AXES OR FEES?						
SECTION VI							
BOARD MEETINGS							
MEETING DATE 2nd Tuesday of Month	MEETING TIME 5:00 p.m.	LOCATION Ridgway Memorial Libi	ary				

	BOARD MEMBERS		
Sherri Beck, Board Member			
475 McCubbins Rd	Term Expires:	Term:	Phone:
Lebanon Junction, 40150	06-30-2021	1	(502) 777-9622
Sherri Beck, Board Member	Term Expires:	Term:	Phone:
475 McCubbins Rd	06-30-2021	1	(502) 777-9622
Lebanon Junction, 40150			
Bernice Davis, Secretary	Term Expires:	Term:	Phone:
3195 Knob Creek Road	06-30-2022	1	(502) 492-0315
Shepherdsville, 40165			
Bernice Davis, Secretary	Term Expires:	Term:	Phone:
3195 Knob Creek Road	06-30-2018	4	(502) 492-0315
Shepherdsville, 40165			· · /
Bernice Davis, Secretary	Term Expires:	Term:	Phone:
3195 Knob Creek Road	06-30-2018	4	(502) 492-0315
Shepherdsville, 40165			. ,
Bernice Davis, Secretary	Term Expires:	Term:	Phone:
3195 Knob Creek Road	06-30-2018	4	(502) 492-0315
Shepherdsville, 40165			
Sean Firkins, Board Member	Term Expires:	Term:	Phone:
414 New Ed Quick Rd	06-30-2018	1	(502) 938-2755
Brooks, 40109			
Sean Firkins, Board Member	Term Expires:	Term:	Phone:
414 New Ed Quick Rd	06-30-2018	1	(502) 938-2755
Brooks, 40109			. ,
Sean Firkins, Board Member	Term Expires:	Term:	Phone:
414 New Ed Quick Rd	06-30-2022	1	(502) 938-2755
Brooks, 40109			
Lea Anne Johnson, Board	Term Expires:	Term:	Phone:
185 Main St.	06-30-2017	4	(502) 488-0230
Lebanon Junction, 40150			()
Lea Anne Johnson, Board	Term Expires: 06-30-2017	Term:	Phone:
185 Main St.		4	(502) 488-0230
Lebanon Junction, 40150			· · · · · · · · · · · · · · · · · · ·
Darlene Mann, Vice President	Term Expires:	Term:	Phone:
294 Hardy Lane	06-30-2017	4	(502) 538-4305
Mt. Washington, 40047			· · ·

	BOARD MEMBERS	i	
Darlene Mann, Vice President	Term Expires:	Term:	Phone:
294 Hardy Lane	06-30-2017	4	(502) 538-4305
Mt. Washington, 40047	00 00 2017	-	(302) 330 4303
Darlene Mann, Vice President	Term Expires:	Term:	Phone:
294 Hardy Lane	06-30-2017	4	(502) 538-4305
Mt. Washington, 40047			(,
Darlene Mann, Vice President	Term Expires:	Term:	Phone:
294 Hardy Lane	06-30-2021	1	(502) 538-4305
Mt. Washington, 40047			(,
Joyce Manning, Treasurer	Term Expires:	Term:	Phone:
12408 Spring Leaf Court	06-20-2018	2	(502) 957-4640
Louisville, 40229			
Joyce Manning, Treasurer	Term Expires:	Term:	Phone:
12408 Spring Leaf Court	06-20-2018	2	(502) 957-4640
Louisville, 40229			. , -
Renee Morgan, Vice President	Term Expires:	Term:	Phone:
P.O. Box 37	06-30-2017	1	(502) 648-3927
Mt. Washington, 40047			
Sherry Parker, Secretary	Term Expires:	Term:	Phone:
710 Wilderness Way	06-30-2015	4	(502) 216-2476
Shepherdsville, 40165			
Sherry Parker, President	Term Expires:	Term:	Phone:
710 Wilderness Way	06-30-2019	1	(502) 216-2476
Shepherdsville, 40165			
Sherry Parker, President	Term Expires:	Term:	Phone:
710 Wilderness Way	06-30-2019	1	(502) 216-2476
Shepherdsville, 40165			
Sherry Parker, President	Term Expires:	Term:	Phone:
710 Wilderness Way	06-30-2019	1	(502) 216-2476
Shepherdsville, 40165			
Sherry Parker, President	Term Expires: 06-30-2023	Term:	Phone:
710 Wilderness Way		2	(502) 216-2476
Shepherdsville, 40165			
Pam Polston, President	Term Expires:	Term:	Phone:
6606 S. Preston Hwy.	06-30-2017	1	(502) 413-6935
Lebanon Junction, 40150			· · · ·

TAXES / FEES (IF APPLICABLE)					
ТҮРЕ	AUTHORITY	RATE / AMOUNT			
Ad valorem	173.720	6.9			
Motor Vehicle	173.720	2.12			
Ad valorem	173.720	6.9			
Ad Valorem	173.720	6.9			
Inventory in Transit Tax	KRS 173	.068			
Real Property Tax	KRS 173	.068			
Tangiable Property Tax	KRS 173	.068			
Motor Vehicle Tax	KRS 173	.0212			
Documented Watercraft Tax	KRS 173	.068			